
 

 

Adverbs of probability 

Choose the correct sentence from the following: 

1) Which is correct? 

• Perhaps he is too tired to come. 
• He is perhaps too tired to come. 

2) Which is correct? 

• Clearly she was very emotional. 
• She was clearly very emotional. 

3) Which is correct? 

• I’m too busy tomorrow; could I possibly come the day after?  
• I’m too busy tomorrow; could I come possibly the day after? 

4) Which is correct? 

• He has misunderstood obviously the instructions. 
• He has obviously misunderstood the instructions. 

5) Which is correct? 

• They are certainly at home. 
• They certainly are at home. 

6) Which is correct? 

• Maybe the message never arrived. 
• The message never arrived maybe. 

Put the words in order.  

1. Certainly / she / intelligent / is / an / girl. _______________________________________ 
2. Left / could / they / possibly / already / have. _______________________________________ 
3. Together / definitely / came / they / to school. _______________________________________ 
4. Indeed / to / party / I / coming / your / am. _______________________________________ 
5. Spanish / teach / maybe / we / him / can. _______________________________________ 
6. Party / she / to / the / come / obviously / will. _______________________________________ 
7. Out / perhaps / will / we / tonight / go. _______________________________________ 
8. The exam / believe / truly / they / they are / fail / going to. _______________________________________ 
9. Possibly / but / she / visit / wanted / to / you / couldn’t. _______________________________________ 


